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Spec‘ific volume, Internal energy, ' . Enthalpy, Entropy,
m’/kg ki/kg ki/kg kikgK
Sat. Sat. Sat. - Sat. T sat. Sat. Sat.  Sat. Sat,
"Press., temp., liquid, vapor, liquid, Evap., vapor, liquid, Evap., vapor, liquid, Evap., vapor,
PkPa T,°C v Ve . Up Uy U, hy hy hy Sy Sy Sy

10 4581 0.001010 14.670 191,79 2245.4 2437.2 191:81 2392.1 2583.9 0.6492 7.4996 8.1488
25 64.96 0.001020 6.2034 = 271.93 21904 24624 271.96 23455 2617.5 0.8932 6.9370 7.8302
50 81.32 0.001030 3.2403  340.49 2142.7 2483.2 340.54 2304.7 2645.2 1.0912 6.5019 7.5931
75 91.76 0.001037 2.2172 384.36 2111.8 2496.1 384.44 2278.0 2662.4 1.2132 6.2426 7.4558
100 99.61 0.001043 1.6941 417.40 2088.2 2505.6 417,51 22575 2675.0 1.3028 6.0562 7.3589
250 127.41 0.001067 0.71873 535.08 2001.8 2536.8 535.35 2181.2 2716.5 1.6072 5.4453 7.0525
500 151.83 0.001093 0.37483 639.54 '1921.2 2560.7 640.09 2108.0 2748,1 1.8604 4.9603 6.8207
750 167.75 0.001111 0.25552 708.40 1865.6 2574.0 709.24 2056.4 2765.7 2.0195 4.6642 6.6837
1000 179.88 0.001127 0.19436 761.39 1821.4 25828 76251 2014.6 2777.1 2.1381 4.4470 6.5850
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T v u h s T v h s T v u h s .
°C m¥kg kilkg kilkg kikg-K| °C - mikg kikg kikg kikg-K| °C  m¥kg  kikg  kikg kikg-K
P=0.5MPa (151.83°C) P =5 MPa (263.94) ~ P=10MPa (311.00°C)

Sat. 0.37483 2560.7 2748.1 6.8207 | Sat. . 0.03945 2597.0 2794.2 5.9737. |[Sat. 0.018028 2545.2 2725.5 . 5.6159
200 0.42503 2643.3 2855.8 7.0610 | 275 0.04144 2632.3 2839.5 6.0571 325 0.019877 2611.6 2810.3 '5.7596.
250 0.47443 2723.8 2961.0 7.2725 | 300 0.04535 2699.0 2925.7 6.2111 350 0.022440 2699.6 2924.0 5.9460
300 0.52261 2803.3 3064.6 _7.4614 | 350 0.05197  2809.5 3069.3 64516 | 400 0.026436 2833.1 3097.5 6.2141
350 0.57015 2883.0 3168.1 7.6346 | 400 0.05784 2907.5 3196.7 6.6483 | 450 0.029782 2944.5 32424 6.4219
400 '0.61731 2963.7 32724 77956 | 450 0.06332 3000.6 3317.2 6.8210 500 0.032811 3047.0- 3375.1 6.5995
500 0.71095 3129.0 3484.5 8.0893 ( 500 0.06858 3091.8 3434.7 6.9781 550 0.035655 3145.4 3502.0 6.7585
600 0.80409 3300.4 3702.5 B8.3544 | 600 0.07870 3273.3 3666.9 7.2605 .| 600 0.038378 3242.0 3625.8 6.9045
700 0.89696 3478.6 3927.0 8.5978 | 700 0.08852 3457.7 3900.3 7.5136 650 0.041018 3338.0 3748.1 7.0408
800 0.98966 3663.6 4158.4 8.8240 | 800 0.09816 ' 3646.9 4137.7 7.7458 700 0.043597 3434.0° 3870.0 7.1693
900 1.08227 3855.4 4396.6 9.0362 | 900 0.10769 3841.8 4380.2 7.9619 800 0.048629 3628.2 41145 7.4085
1000 1.17480 4054.0 4641.4 9.2364 | 1000 0.11715 40426 4628.3 8.1648 800 0.053547.3826.5 4362.0 7.6290
1100 1.26728 4259.0 4892.6 9.4263 | 1100 0.12655 '4249.3° 4882.1 8.3566 |1000 0.058391 4029.9 4613.8 7.8349
1200 1.35972 4470.0 5149.8 9.6071 | 1200 0.13592 4461.6 5141.3 85388 |[1100 0.063183 4238.5  4870.3 8.0289
1300 1.45214 4686.6 5412.6 9.7797 | 1300 0.14527 4679.3 5405.7 8.7124 |1200 0.067938 4452.4 5131.7 8.2126
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